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TS FE A EREKENEGR -ER

ﬁﬁ #R% |K#| pH [ DO [BOD|(COD|SS gg? 22X | 28 | 2EH zgjh %jﬁji %;;% if‘fﬁ*f
mej |=m| 7.7 | 89 [os | 1.3 | 1 66 | 0.36 | 0.024| 0.005[<0.01| 0.023 [<0.01| -
R mary |2g9) 77 | 12 <05 | 09 [<1 23 | 0.30 | 0.012[<0.001[<0.01] 0.011 [<0.01| -
7B gl 79 10 Jcos | 11| 1 45| 0.33 | o.018]| 0.003|<0.01] 0.017 [<0.01] -
B | sEN | =] 80 | 9.2 [<os | 1.0 1 67 | 0.65 | 0.029| 0.005[<0.01| 0.028 [<0.01| -
BE- | —smis | 28] 7.9 | 11 | o6 | 1.0 [<1 20 | 0.47 | 0.022| 0.001[<0.01] 0.022 [<0.01| -
—/# 1y 80| 10 | 06 | 1.0 | 1 44| 0.56 | 0.026| 0.003|<0.01] 0.025 [<0.01] -
gE)N |=m| 7.4 | 91 [cos | 11| 1 150 | 0.58 | 0.034| 0.005|<0.01| 0.034 [<0.01| -
BE | mEm | 2m] 75 | 11 o5 | 05 |<1 26 | 0.45 | 0.029 < 0.001[<0.01] 0.029 [<0.01| -
iyl 75 | 10 [<o5 | 0.8 | 1 88 | 0.52 | 0.032| 0.003|<0.01| 0.032 [<0.01| -
=5 =3 7.6 | 9.0 [<os | 1.5 |<1 240 | 0.82 | 0.034| 0.004[<0.01| 0.034 |<0.01| -
AE | smws | 28] 76 | 11 (<05 | 1.1 |14 54 | 0.65 | 0.023| 0.001[<0.01] 0.022 [<0.01| -
=y 7.6 | 10 <05 | 1.3 |<1 147 ] 0.74 | 0.029| 0.003|<0.01| 0.028 [<0.01] -
ol - sl (= 7.7 | 87| 06 | 1.3 <1 71| 0.28 | 0.030| 0.004|<0.01| 0.030 [<0.01| -
g | mws | 2] 7.9 | 11 o5 | 1.3 [ 18 | 0.20 | 0.018[<0.001 [<0.01| 0.017 |<0.01]| -
iy 78] 9.9 | 06 | 1.3 [<1 45| 0.24 | 0.024| 0.003|<0.01] 0.024 [<0.01] -
= | BN |=m| 78| 89| 06| 101 21| 0.36 | 0.020| 0.004[<0.01| 0.018 [<0.01| 4.0
t_t%iﬁ{ BWAE | =g5| 7.8 | 12 |<o0.5 | 1.0 [<1 17| 0.21 | 0.003|<0.001| 0.02]| 0.0038 |<0.01| 4.6
eyl 78| 10 | 06 | 1.0 1 19| 0290 | 0.012] 0.003| 0.02]| 0.011 |[<0.01| 4.3
it I | mgm| 78| 88| 09| 1.2 1 19| 0.33 | 0.026| 0.005[<0.01| 0.026 |[<0.01| 4.3
E | mem | =] 79| 12 [<o.5 | 0.9 [<1 16 | 0.21 | 0.010|<0.001 [<0.01]| 0.009 |<0.01| 4.9
OB Jew| 70 10 o7 | 11| 18| 0.27 | 0.018] 0.003[<0.01| 0.018 |<0.01| 4.6
- SHUIN =) 7.7 | 89 | 0.6 | 1.4 [<1 140 | 0.26 | 0.013| 0.004<0.01| 0.013 [<0.01| 4.8
tay| PEFE | =m| 76 | 12 | 05 | 0.9 |<1 130 | 0.24 | 0.007 < 0.001<0.01| 0.007 [<0.01| 4.9
£ 7.7 10 | o6 | 1.2 [<1 135 | 0.25 | 0.010] 0.003|<0.01| 0.010 [<0.01| 4.9
it BN | =] 7.8 | 8.3 |[<o.5 | 1.9 [<1 190 | 0.24 | 0.025| 0.003 |<0.01| 0.025 |[<0.01| 4.7
g | FER | &g 7.7 | 11 o5 | 1.4 [ 500 | 0.22 | 0.009 [< 0.001 [<0.01 | 0.008 |<0.01] 5.1
£y 7.8 | 9.7 o5 | 1.7 [k1 345 | 0.23 | 0.017] 0.002[<0.01| 0.017 [<0.01] 4.9
it BEN | mm| 7.8 | 8.4 [<o5 | 1.3 |1 90 | 0.26 | 0.029| 0.004[<0.01| 0.027 [<0.01| 3.7
BT | rpmup | 28] 78 | 11 <05 | 1.0 |<i 44 | 0.19 | 0.013[<0.001[<0.01| 0.013 [<0.01] 4.1
£y 7.8 ] 9.7 |<o5 | 1.2 [«u 67| 0.23 | 0.021] 0.003]<0.01| 0.020 [<0.01]| 3.9
Bf - mg/L

(p HRUKBERZER < . KIBEEULCFU/100mL)
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(3) ¥EFEZLZI (BOD)

(B451 - mg/l)
N2 | AL | B | 0FE | TEE| 2FE | 3FE | MFE | SEE |mane | neexs
Be)Il | =#9(<0.5 [<0.5 [<05 | 0.8 [<0.5 |<0.5 A A A
== 1
=7 S £#| 06 [<05 [<05 | 07 <05 <05 |,p—f =
£ | 0.6 [<0.5 |<05 | 0.8 [<0.5 |<0.5
B | gE)N | =8 [<0.5 [<0.5 [<0.5 | 0.6 |[<0.5 |<0.5
%5 |z s | 28 [<0.5 [<0.5 [<0.5 [<0.5 [<0.5 0.6 - -
—/® £ #)<0.5 [<0.5 |<05 | 0.6 [<05 | 0.6
#E) | =4 <05 [<0.5 [<05 | 05 | 06 [<0.5
MR | mEm | &#8[<0.5 |<0.5 [<0.5 |<0.5 [<0.5 [<0.5 - —
£ #)<0.5 [<0.5 |<05 | 05 | 0.6 |<0.5
%) | = <05 [<0.5 [<0.5 [<05 | 05 |<0.5 | AA | AA
AR | smaim | 299 |<0.5 [<05 <05 |<0.5 [<05 |<0.5 | |
£ #)<0.5 [<0.5 |<0.5 [<0.5 | 0.5 |<0.5
il - &) | =8 <05 <05 [<05 |<0.5 [<0.5 | 06 | AA | AA
Ag | muE | Z#] 06 |<0.5 |<0.5 |<0.5 | 0.5 [<05 | | qyg
£ | 0.6 [<0.5 |<05 [<05 | 05 | 0.6
= | BN |=m|[<05 |<0.5 |<0.5 |<0.5 [ 09 | 0.6 | A A
PR | BUIRH | 2g51<0.5 1<05 <05 1<0.5 | 05 |<05 |,pr| oy
£ #)<0.5 [<0.5 |<05 [<05 | 0.7 | 0.6
N Bl | mm|<o05 [<05 [<o5 |<o5 | 08 | 09 A A
%ﬁﬁ B £#[<0.5 [<05 [<05 <05 | 05 <05 |,p—f,pr
£ #9)<0.5 [<0.5 |<0.5 [<0.5 | 07 | 0.7
| BHII | =g |<0.5 |<0.5 |<0.5 | 0.8 |<0.5 | 0.6 A A
f.‘gqu PEFE | 289 (<05 [<0.5 [<0.5 [<0.5 [<0.5 | 0.5 . ,
= 2LIF | 2T
£ #)<0.5 [<0.5 |<05 | 0.7 [<05 | 0.6
N BB [ =g(<0.5 | 0.6 [<0.5 [<0.5 [<0.5 [<0.5
2 grm — —
Gk 28 <05 [<0.5 [<0.5 |<0.5 | 0.6 [<0.5
£ #)<0.5 | 0.6 |<05 [<0.5 | 0.6 |<0.5
- MEFN | =9 |<0.5 [<0.5 [<0.5 [<0.5 [<0.5 [<0.5
e |TRE®N 285 1<0.5 [<0.5 [<0.5 [<0.5 0.5 [<0.5 - —
£ #)<0.5 [<0.5 |<05 [<05 | 0.5 |<0.5
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